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1. With the data in the figure, AGOH = AIOJ by which property?
J I

G H

(i) RHS Congruency (ii) not congruent (iii) ASA Congruency (iv) SAS Congruency (v) SSS Congruency

2. With the data in the figure, AJKN = AKJO by which property?
M L

J K

(i) not congruent (ii) RHS Congruency (iii) SAS Congruency (iv) ASA Congruency (v) SSS Congruency

3. In the given figure, which of the following is true?
N M

(i) AKMN = AMKL (ii) AKMN = AKLM (iii) AKMN = AKML (iv) AKNM = ALMK (v) AKNM = AKLM

4. With the data in the given figure, AGH] = AGIK by which property?
G

| H | K

(i) SAS Congruency (ii) SSS Congruency (iii) ASA Congruency (iv) not congruent (v) RHS Congruency



5. With the data in the given figure, ADEH = ADFG by which property?
D

E F
(i) SAS Congruency (ii) SSS Congruency (iii) RHS Congruency (iv) ASA Congruency (v) not congruent

6. With the data in the figure, AFGI = AJHI by which property?
F

H

(i) not congruent (ii) ASA Congruency (iii) RHS Congruency (iv) SSS Congruency (v) SAS Congruency

7. Identify the property by which the two given triangles are congruent
D 0
I I
E F P Q

(i) ASA Congruency (ii) SAS Congruency (iii) SSS Congruency (iv) RHS Congruency

8. With the data in the figure, ACDF = AEDF by which property?
C

L E

(i) not congruent (ii) ASA Congruency (iii) SAS Congruency (iv) RHS Congruency (v) SSS Congruency



9. Identify the property by which the two given triangles are congruent
B R

A A

C D 5 T

(i) ASA Congruency (ii) RHS Congruency (iii) SSS Congruency (iv) SAS Congruency

In the given figure, points H , | and J are the mid-points of sides FG, GE and EF of AEFG. Which of the following

10.
are true?

a) Area of trapezium FGIl] is thrice the area of AEJI
) Area of AEFG = ; area of AHIJ

c) Area of AEFG = 4 times area of AHIJ
) Area of trapezium FGl)is 1 the area of AEFG

e) All four small triangles have equal areas

E

F G

(i) {a,c,e} (i) {d,c} (iii) {b,a} (iv) {b,d,e} (v) {b,ac}

11. With the data in the figure, ADOE = AFOG by which property?
G F

D E

(i) SSS Congruency (ii) SAS Congruency (iii) ASA Congruency (iv) RHS Congruency (v) not congruent



12. With the data in the given figure, AMON = ANPM by which property?

L
A
M N

(i) ASA Congruency (ii) SSS Congruency (iii) RHS Congruency (iv) SAS Congruency (v) not congruent

13. In the given figure, AIGH is an isosceles triangle. FJ L GH passing through |. AFIG = AFIH by which property?
F

-
G ] H

(i) ASA Congruency (ii) RHS Congruency (iii) not congruent (iv) SSS Congruency (v) SAS Congruency

14. With the given data in the figure, AHIJ = AJKH by which property?
K L

-

H I

(i) ASA Congruency (ii) not congruent (iii) RHS Congruency (iv) SSS Congruency (v) SAS Congruency



15. With the data in the given figure, AFOG = AFOH by which property?
F

G H

(i) RHS Congruency (ii) SAS Congruency (iii) SSS Congruency (iv) not congruent (v) ASA Congruency

16. With the data in the figure, ADGE = AEFD by which property?
G F

D E

(i) ASA Congruency (ii) RHS Congruency (iii) SAS Congruency (iv) SSS Congruency (v) not congruent

17. With the data in the given figure, ALMO = ANMO by which property?
N

L M

(i) SAS Congruency (ii) not congruent (iii) RHS Congruency (iv) ASA Congruency (v) SSS Congruency



18 In the given figure, points G, H and | are the mid-points of sides EF, FD and DE of ADEF. Which of the following

are true?

a) AIEG = AGHI

b) AIEG = ADIH

c) ADIH = AGIH

d) ADIH = AGHI

e) ADIH = AHGF

D
H
G
E F

(i) {c,b} (i) {cea} (i) {ca} (iv) {cd} (v) {ab,de}

19. With the data in the given figure, ALMO = ANMO by which property?
N

o
LT
=

L

(i) ASA Congruency (ii) not congruent (iii) RHS Congruency (iv) SSS Congruency (v) SAS Congruency

20. With the data in the given figure, AADB = AADC by which property?
A

B C

(i) SAS Congruency (ii) SSS Congruency (iii) not congruent (iv) RHS Congruency (v) ASA Congruency



21. With the data in the figure, ACFD = ACFE by which property?
C

(i) SSS Congruency (ii) SAS Congruency (iii) not congruent (iv) RHS Congruency (v) ASA Congruency

22. Which of the following are true?

a) Area of the union of two polygonal region is the sum of the individual area.

b) A polygonal region can be divided into a finite number of triangles in a unique way.

c) Area of the union of two polygonal region is not equal to the sum of the individual area.

d) Area of a convex polygonal region is equal to the sum of the areas of all triangles formed by joining the
vertices of the polygon with an interior point.

(i) {b,d} (i) {a,c} (i) {ad,c} (iv) {ab,c} (v) {cd}

23. In the given figure, ABCD = ASRQ. Which of the following are true?

a) LR = 42°
b) LS = 42°
c) £Q =79°
d) LR = 79°
e) LS = 59°
f) £Q = 59°
S
B Q
59¢°
. 790
42 {
R
C D

(i) {d,a,c} (i) {b,a} (iii) {f,b,e} (iv) {ac,e} (v) {d,.c}



24. With the data in the figure, AFIG = AHIG by which property?
!

G

(i) SSS Congruency (ii) not congruent (iii) SAS Congruency (iv) RHS Congruency (v) ASA Congruency

25. With the data in the figure, AFGI = AGFH by which property?
E

F G

(i) SSS Congruency (ii) ASA Congruency (iii) SAS Congruency (iv) not congruent (v) RHS Congruency
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